         Algebra II 

                                                            Final
1. Write the first 4 terms of each sequence.              

 a.   u1 =  60    

      un =   un–1  + 11    where  n 
b.     Find the sum of the first 30 terms
2. Sketch a graph of the function  y= -4 (x – 4)2 (x + 7)3 (x – 1)



3. Are the following sequences arithmetic or geometric?
a) 100, 80, 60, 40 ……

b) 100, 80, 64, 51.2…

c) 6,12,24,48 ….
4. Write a recursive formula for 3a above.

5. The likelihood of survival of a wolf in the wild from birth to adulthood is .65.  If a mother wolf has 7 kits (babies) over the course of her lifetime:

a) what is the likelihood that none of them survive?

b) what is the likelihood that 4 of them survive?
	
	6. Find the height, width, area, and distance specified.

	 
	 
	 
	a.
	total height of the tree
	b.
	width of the lake

	 
	 
	
	
	
	
	
	

	 
	 
	 
	 
	[image: image1.png]



	 
	[image: image2.png]





	7.
	If you are dealt a 7 card hand from a standard 52 card deck how likely is it that you will get a hand with exactly 3 queens?

How many different ways can you write the letters in the word chair?


	8.
	 
	A folding chair's legs meet to form a 50° angle. The rear leg is
55 cm long and attaches to the front leg at a point 75 cm from
the front leg's foot. How far apart are the legs at the floor?
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9.   A company uses a code to keep its data safe.  They don’t use zeroes.  If the code is 3 letters and 5 numbers, how many codes are possible if no letters or numbers are repeated?

10.  Solve the following:

   a)   5x = 10                                      b)    6 + 3lnx = 15                         c) 4e3x = 15      
	11. Write an equation in standard form for each graph.

	 
	 
	 
	 
	a.
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	b.
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	12. Sketch a graph of the equation. 

	
	
	
	
	

	a.
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13.   Graph  (x – 6) (x +2)
              (x – 1)(x + 5)

	14.  Find all four values of x between – 2[image: image7.png]
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 that satisfy this equation.

	  
	
	
	
	
	

	       a. cos x = .65
	 
	 
	 
	 
	


15. Write an equation for the graph at below. 
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	16. Write the expression as a sum of terms, then calculate the sum.

	 
	 
	 
	
	a.
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( n + 6 )



17.  Using this geometric sequence

360, 90, 22.5....
a) what is the 7th term?

b) Find the sum of the first 8 terms.

c) Find the sum of all the terms in the series (if it went on forever).
18. Graph the following:  y = 7 – 3sin((2π/40)x)
19.  Draw a graph showing the moon’s illumination if you will have a full moon 4 days ago and the full cycle from full to full moon again is 28 days.  Then write an equation.
Extra credit:  Last names: write in the famous last name of these mathematicians and then match the picture to the name (write the number under the name).
1. Karl
2. Leonard

3. Blaise

4. Gottfried
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Every task you undertake


becomes a piece of cake.


                ~Mary Poppins








